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{ English Version ).

w

Instructions : : L

i) ‘'Draw diagrams wherever necessary.

1) Unlabelled diagrams do not get any marks.

PART I— { BOTANY )
SECTION - A

Answer the following questions in one word or in one sentence each :
i x1=5

Name the process by which RNA is synthesized from DNA.
Where does terminal oxidation take place in mitochondrion 'J
Name the dead component of phloem.

Define ‘Turgo_r Pressure’.

Expand 2, 4-D.

SECTION - B

Answer any five of the following in 2 to 5 sentences each : Sx2=10
Define ‘Guttation’. Name any two plants in which it occurs.

Plot the sigmoid curve showing the phases of growth:

- What is the monomeric unit of nucleic acid ? Mention its components.

Name the four types of tracheids based on lignification.
What is artificial insemination ? Mention any two advantages.

Name the fungus from which gibberellins were first isolated. Mention any

two applications of gibberellins.
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12.

13.

14.
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SECTION - C

Answer any four of the following in about 200 to 250 words each
wherever applicable : . 4x5=20

Explain Lac-operon concept to show regulation of gene action in E.coli.

| a) Whatis gene therapy ? Name the types.

b} Mention any four applications of plant tissue culture.

¢) What is Human Genome Project (H.G.P.) ? d

Explain Munch’s Mass flow hypothesis. Write its one merit and one

.demeg‘it.

Explain the process of insulin synthesis through genetic engineering.

Write the schematic representation of C,-pathway.

e

a) Define ‘Meristem’. Mention any two types based on their function. 2

b} Distinguish between spring wood and autumn wood. .2

¢) Mention the two functions of lenticels. " : 1
SECTION - D

Answer any one of the following : 1x5=5

18. Write the schematic representation of Krebs cycle with preparatory
phase. o '

19. Give reasons for the following in one sentence each : 5x1=5
a) Prokaryotic gene is non-splitting.
b) UGA is called terminator codon.

¢) Potato osmoscope is a physiological setup.

d)} For non-cyclic photophosphorylation,  photolysis of water is

must. ’ .

¢) When the osmotic concentration increases in the guard cells, .

the stoma opens,
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{ Questions only from the Practical Syllabus )
Answer any one of the following : ' : 1x5=5

20." Draw a '_neat and labelled diagram of T.S. of a young dicot stem

showing anatomical details.

21. Explain Ganong’s respiroscope experimeént with a neat and labelled
diagram. |
PART 11 — { ZOOLOGY ) ‘
SECTION - E
Answer the following questions in one word or one sentence each -

S5x1=5
Né.me the first law of Mendel.
Define ‘genetic di?ersit_y’.
What are meninges' ?
What is greenhous¢ effect ?

Expand tht;: abbreviation G.LF.T.

SECTION - F

Answer any five of the following in about 2 to 5 sentences each :
| 5x2=10

What is soil erosion ? Mention any two causes.

What are lesser known animals of food value 'P Give two examples.

Némé ali'osomal hﬁypoaj-'neuploidy disorder in humans. Write any two
symptoms of 1t

Give the cause for.Parkinsoh’s diseaée. Mention any two symptoms of it.
What is non-specific body defence ? Nam.e. anf two sﬁrface barriers,

What is family planning ? Name aﬁy two mechanical methods of birth

control.
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33.
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II.

SECTION - G
Answer any four of theffollowing in about 200 to 250 words each
wherever applicable : 4% 5=20

What is criss-cross inheritance ? Explain it with reference to colour
blindness in humans.

Define ‘Breathing’. Explain the mechanism of breathing with the help .of a

diagram. -

2

Explain the mechanism of origin and conduction of heartbeat with a neat
labelled diagram.

Define Fertilization’. Explain the steps involved in fertilization.

Explain physiology of digestion of proteins in intestine by the action of
any five proteolytic enzymes.

a) Write any four anthropocentrit causes for biodiversity depletion. 2
b} What is sacred species ? Give two examples. | 2

¢) Name the sanctuary where. single horned rhinoceros (Rhinoceros
unicornis } is -protected. . 1

SECTION - H
Answer any one of the following : . : 1x5=5
39. Draw a{ neat and labelled diégram of sagittal section of human brain.
40. Give reasons for the following in one sentence each : ‘ 5x1=35
, a} Hypertrichosis occurs only in men.
- b) Pitﬁita.ry is regarded as master gland.
¢} Insulinis hyp_oglyca’emic factor.

d) Not all carbohydrates get digested in buccal cavity.

| e) Blastocoel of frog’s blastula.is excentric.

( Questions only from the Practical Syllabus )

- Answer any one of the following : 1x5=5

41. Describe the structure of Haversian system of bone with a neat and

labelled diagram.

. 42. Draw a neat and labelled diagram of V.S of gastrula of frog.




